PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

31st July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Narmada and Tapti drain into the sea through a deep channel called __. / Tfar oz arwht Th Tlg%aqﬁ & A 3
s § frerdt 6, Y ded 6|

® Flood Plain / dT¢

® Estuary/SdI¥

® Delta/ T-Iﬁ DT Goldl

® Bridge / Jd
Correct Answer :-Estuary / SAIR
2)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. / A,B,C,D,E,F 3R

G W P TRI 3R 43 T 3R 7 FT R & P T

2. G is second to the left of C, who is to the immediate left of F. / G, C F Eﬂff\?ﬁ?m%, S F
P RaI I R T

3. A is third to the left of E / E & a1Y 3R A T R1 @

4. B is between D&E / B, D 3IRE P A @

Which of the following has the middle person sitting between the remaining two? / fadd
frad nw wfer @ o 91fe Y & &g o Sa1 82

e FCE
e EFB
e DEB
e None of these / 80 I ®Is &l
Correct Answer :-None of these / T8 ¥ ®I3 7Tgl

()



3)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg oo
g ias st IR R s F U= g :

If you are a journalist, then you can write well / e 39 TH WIT%', o 3T 33T forg T %

e If you are not a journalist, then you cannot write well ) afe antrwumﬂ‘é’fﬁ, GIRE L
33T Tl fora qd &

e If you can write well, then you are a journalist / gfe 3y G@Tmﬂﬁ%} ar Mg T
TIPR &

e If you cannot write well, then you are a journalist / Tfe 3T 3T &l forg TP %, GIREIL]
TP TPR &

* If you cannot write well, then you are not a journalist / afe smy Wqﬁﬁﬁma G|
3T U TR 81 &

Correct Answer :-If you cannot write well, then you are not a journalist / ¢ 3T 3[<3T gl

fra W& €, df o Ts THeR T8 &

4)
Question Stimulus :-

Priyadarshini Point in Pachmarhi was also known as ./ TEHdl # el uige ot ¥
a9 & WY ST S v |

Rajendragiri Sunset Point / SRR T e uise

Forsyth Point / BRRY Tfl%?

Irene Pool / GTIE'\ﬁ:[ gd
® Chauragarh Peak / NSNS e

Correct Answer :-Forsyth Point / BRRY Uige

5)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / "ﬁl‘cﬁw 3

fRurad Uy 9 A9 WA ¢ 1 99 #1 yRas aRTd ufd fPal 200 FUT § 3R ITR! Bl TR § JUG B
3t arTa ufd fraRmT 100 FUT g1 3l WisRUT & 100 franmy A9 &1 "Rud e Sk 31 ot AT

@)



CEIGE]

Suppose loss due to unavailability of apples if demand is high is Rs. 1000per kg, how much
will the store stock and what will be his expenses if the demand fluctuates between 500 kg

to 1000 kg? / A WIRTE Tfe | S 8, @ V9 BT U & HRUT 1000 $U4 ¥l fHat JoHam
BidT 8, gPH fhaaT HUSRUT ST 3R 39 fha-T e g, afe witt 1000 frat 3k 500 fareat & o A
Il @il 82

* 1000 kg, Rs. 3000 / 1000 f&dl, ¥UT 3000

* 500 kg, Rs. 1500 / 500 f&dl, ¥UT 1500

e 400 kg, Rs. 1200 / 400 f&dl, ¥UT 1200

e 400 kg, Rs. 1000 / 400 f¥@l, ¥UT 1000
Correct Answer :-1000 kg , Rs. 3000 / 1000 f&dl, ¥UY€ 3000
6)
Question Stimulus :-

Who is the first foreigner to be awarded the Bharat Ratna? / HIRd @Y T'WI@[ ™ ugﬁ ﬁé’!ﬁ GaE| ??
® Nelson Mandela / &I Hadl
® Khan Abdul Gaffar Khan / @I Slegd THRRIY W+
 Mother Teresa / WG ¥dT
® Martin Luther King / HqIféT AR o
Correct Answer :-Khan Abdul Gaffar Khan / @1 3fegcl THRPTR W
7)
Question Stimulus :-

Hari Prasad Chaurasia is a famous player of this instrument / 'E:'ﬁ' Tqiq ?ﬁ'\ﬁm ed CIBRE] & TUdh uﬁl&' diqd %
® Flute / Siger
® Shehnai / &S

® Nadaswaran / TG0l
* Sitar / AR

Correct Answer :-Flute / Sl

(4)



8)
Question Stimulus :-

This man, who is the present RBI governor, rightly predicted the 2008 global recession / dg faq, ot qaq |
HRTT Red 99 & TaR 3, 3R U 9 2008 s wdt o1 wfdwrarf ot

® Raghuram Rajan / JYRTH S

® Amartya Sen / e AT

® Manmohan Singh / ﬂT-rl:ﬁeq ﬁlg

® Jagdish Bhagwati / STGIRT YITde!
Correct Answer :-Raghuram Rajan / YgITH M6H
9)

Question Stimulus :-

Find the word that represents the category of the following three words. / 98 Rleg JTd FIcE
it fg 9 zreal @t Joft B g=ifaT @

Novel, Epic, Drama / 3U, HglPIH, dlch
® Subject/ foug
* Literature / ATTeT
® Poetry / PIH

® Knowledge / JTH

Correct Answer :-Literature / JTfgd

10)
Question Stimulus :-

Which of the following is no longer a “Fundamental Right” as enshrined in the Constitution of India? / fada

S A1 "Hifd® feR" & FUH URa & wiqur # fAfga 76 W mar 82
® Right to freedom of speech / Tgl 3ffHaafdy ot Tadzar & foe
® Right to the choice of religion / o & g-ATd BT SfUPR
® Right to property / U &7 SR

® Right to constitutional remedies / T JauTF e SR & forw

(%)



Correct Answer :-Right to property / TURI &7 SATUBR

11)
Question Stimulus :-

The artist who is credited with being the creator of a new school of Indian art called ‘Jangarh Kalam’ is / ‘STl

S Bl o ardll R et & 7Y faemea & fafa & o d fu uwa eer §
® Jangarh Singh Shyam / ST-¥l@ Rig o
e Jagdish Swaminathan / STTGIRT JATTHATY
® Venkat Raman Singh Shyam / doe 394 Rig @™
® Bhajju Singh Shyam / 4] Rig T4
Correct Answer :-Jangarh Singh Shyam / S¥IT¢ Rig =g
12)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / X<l & AR &R - 33 T &1 vd® MeR o Twrifed forar 1ar g1 98
fawer g it e g Y w1 & o T@msil & wu § 3ieRY &1 T8l % 3T 7|

RTEODP

123456

1,3,5,6,4,2

2,3,1,6,4,5

5,3,6,4,1,2

6,3,5,1,4,2
Correct Answer :-5,3,6,4,1,2

13)

Question Stimulus :-

The desert region of India can be divided into _and ./ HIRd & A &F Bl L 3T _ﬁ' favrfora fear
T TPt B

® Big desert, little desert / WW, 3w IR

(6)



® Big desert, small desert / WW, Brer IR
® Great desert, little desert / fa=mer ¥R, srafter YRRAT

® Great desert, small desert / WW, ?ﬁa W
Correct Answer :-Great desert, little desert / fa=ITe YRR, 3w IRRAT

14)
Question Stimulus :-

Who is the Chairperson of Film and Television Institute of India? / WRdTd ey Td eftfaeis U &
SIS DI 82

® Anupam Kher / 3JUH T
¢ Kiron Kher / fPa @Y

® Mukesh Khanna / H%WTE?IT

® Gajendra Chauhan / UEE-E e
Correct Answer :-Gajendra Chauhan / ﬂﬁ?ﬁﬁ%‘ﬁ
15)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, .
share a common similarity while one is different. Choose the odd one out. / g uy ﬁ,

%mﬁa?wﬁﬁﬂﬁ%,ﬁﬁmﬂ,mwﬁ@w,mﬁwﬁ?wm% | faws ara &1
I

e DW

e HS

e MN

¢ KO
Correct Answer :-KO
16)

Question Stimulus :-

Under which Mughal ruler’s reign did the “petticoat government” period exist? / o HITeT TSI & MBI B

(7)



® Akbar / 3[hd¥
® Jehangir/\_rlg'llni
® Shah Jahan / RITg \_rlﬁ

® Aurangzeb / AT

Correct Answer :-Akbar / [Pd

17)
Question Stimulus :-

Arun ranks 6P from the end in a class of 16. Find out his rank from the top / 16 BT Bt
TP H&T § 3 DI 3ifad A T3T 40 T 8§51 S | ST 407 B Fra S |

e 11t /11
o 12th /&
e 10t /10
o gth /gt
Correct Answer :-11th /11 &

18)
Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / % 7% ¥, Ted &Y sl & o el R &1 oy 3] A et & & =itur v g
et TR g & WY I UPR BT HaY B

ASHES : FIRE :: EXTINCTION : ? / IRd : 3y :: fAeiu=1 : 2
e LIFE / Sfigq
e BIRTH / &9
e DEATH / 9
* GRAVE / &d

Correct Answer :-DEATH / g

19)

(8)



Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / % 3fa ¥, omaq, af, g 3k Bt
U AR, T, AFHT 3R Iad B Al & &7 F e=0id T

6‘/—,:‘?'
/

Which area is cultivated by rice and maize and nothing else? / I & ITad 3R AFP &
o fonsdt 3t oft St 1) Fvan 2

Correct Answer :-2

20)
Question Stimulus :-
Pointing to a photograph, Rana said to Bakshi, “He is Bullu, my only brother. And Krishan is his eldest brother.” What
can Bakshi logically infer from Rana’s statements? / U@ IR @1 (R SRIRT Hd §Y, (UM = TBRI A Hgl, "d8
I8, AT sHadl HTS | 3R T 3% a9 g8 UTS ¢ 1" TBRIt ad ot =P A 70n & T A 1 g1
T el 82

® Rana is the sister of Krishan / 3TUIT Tmﬁf?f 337'[%[

® Krishan is the brother of Rana / T TUIT T 'l-l'l%%l

® Bullu is the youngest of all /mm Eﬁﬂ%l

® Rana is making contradictory statements / 3TUIT Ry _GIT-IWW?EPF %’

Correct Answer :-Ranais making contradictory statements / ITOIT fRIgTyR T &R T(& %

©)



21)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E UTg 91 FI ¢ A T -
1. A, B and C are in Indore and Bhopal. / A, B 3R C 333?({3 ‘l-ﬁ'tﬂ'@ff?'l
2. A, B and E are in Indore and Gwalior / A, B 3R E @?Wﬁmﬁ%l
3. B, C and D are in Raipur and Bhopal. / B, C 3ik D I0QR T4 Hiura A g1
4. A, E and D are in Gwalior and Jabalpur / A, E 3R D W@Wﬁ%l
5. C,E and D are in Raipur and Jabalpur / C,E 3R D W@Wﬁ'?l
Branch of which bank is in all places except Gwalior? / {5 9% @1 3mRar @iferR & 3rarar i
STEl H 82
e A
B
e C
e D

Correct Answer :-C

22)
Question Stimulus :-

The national game of India is / HIRd I TI@T[@F[%
® (Cricket /W

® Mallakhamb / HOEd

* Kabaddi / PES!
L Hockey/ﬁlﬁ

Correct Answer :-Hockey / BId!

23)
Question Stimulus :-

Bharathi is 8 ranks ahead of Divya who ranks twenty sixth in a class of 42. What is

Bharathi’s rank from the last? / 42 BT @ TP H&T A YR feaar & 8 I 3t 21 afe fear &1

(10)



R & § 1 I 26 7, dF YRl T I 7 S |82
o oth, gd
« 24th / 249i
e 25th/ 25l
e 34th /347
Correct Answer :-25th / 25Tl

24)
Question Stimulus :-

Following are the three positions of a cube. / ﬁ'ﬁﬂqiﬁ ?ﬂq@lﬁfm %

TOM ROM
Jing Jin
JACK TOM
15t view 78d ey
ROX
NEAL ME
3dyiew

What is the name in the face opposite to the face having name MEL? / MEL FITH > P & fTudd s R
T 82

® TOM
® RON
* JIM

® JACK

Correct Answer :-JIIM

25)

(11)



Question Stimulus :-

The capital of Magadha was / HITY B It At
® Taxila / d&RTET
® Pataliputra / W
® Mathura / HYRT
® Patna /YUcHIl

Correct Answer :-Pataliputra / GICAiIgH

26)
Question Stimulus :-

The autobiography of Dr. A.P.J. Abdul Kalamis __./ S}fl{ 0t & Sfog ¢l HelTH Bl THBYT _%I
® Ignited Minds / 3"«'"3%'3 TI'I'E'@::W
e Spirit of India / FRINe 3w SfEaT
®  Wings of Fire / w7 3ife BRR
® The luminous sparks / ¢ gﬁ?ﬁ TTRT

Correct Answer :-Wings of Fire / a3 3{Tth BRI

27)
Question Stimulus :-

Who among the following was a gold medalist at the 8™ International Shotgun Cup 2016? / Frafafea 4
A P 81 SIRIFIA AT $U 2016 ST VI UG faeram U1?

® Mansher Singh / Wﬁl@'
e Ratnesh Pandey / AR UTUSY
® Harshita Tomar / Bﬁ?ﬂ qR
¢ Manisha Keer / HHT BIR

Correct Answer :-Manisha Keer / A9I9T R

28)

Question Stimulus :-

(12)



First railway in India ran from ./ HRd ¥ 999 tl?ﬁ'i?l% 'Clﬁﬁ_ 'CIE":ﬂ il
® Bombay to Pune / Erclé T HADHl

® Bombay to Thane / '&ﬁl’g J 310
® Bombay to Kurla / CEERCH Qﬁﬁ

¢ Bombay to Calcutta / aaé T APl
Correct Answer :-Bombay to Thane / CEER L]
29)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fooe ?{ﬁt{
it fRw U Syl vd el F R § 9 7

Statements: / YH:
All songs are poems / J4t TH Hfaarg &
All poems are operas / T HAamT N7 &
Conclusions: / fA=pd:
I. All operas are songs / I SiuRT A %
II1. All songs are operas / Tt T eiuRT B
® Only conclusion | follows / Haq ey 1 Aeadar %
® Only conclusion Il follows /aﬁﬁﬁmﬂf GEZSGI %
® Both conclusion land Il follows/ﬁwﬁf I 3R II E.Pl:ﬁ frred %
e None of the conclusion I or II follows / Fepd I W II § A I 51 Fpadar g
Correct Answer :-Only conclusion Il follows / Fad ey 1 Freear %

30)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g, s ab sl A T fer W sy & qu= § -

It is not true that both Kavita and Savita are MBA aspirants. / I8 9d -8l 8 T $faar ik afaar
ST g TH. ST e g

(13)



e Kavita is not an MBA aspirant or Savita is not an MBA aspirant. /WWQ’H.E&E{
gt Y @ a1 Afaar ve wa.&t.u arvaeff =gt g1

e Kavita is an MBA aspirant and Savita is an MBA aspirant. / ®fJdT T TH.d.T ervaeif g
3R gfyar ve v, 41w gt 31

e Kavita is an MBA aspirant and Savita is not an MBA aspirant. /WWQ’H.‘G&E
3 ff g oiR Ifaar ue . dt.u srgeff 7Y 31

e Kavita is not an MBA aspirant and Savita is an MBA aspirant. /ﬁﬁﬁTWQﬁ.ﬁﬁ.t{
3t g 7 ok wfaar ve wa.dl.u snadf g

Correct Answer :-Kavita is not an MBA aspirant or Savita is not an MBA aspirant. /

PHfadr T TH.§1.T g Y & a1 Ifadr ve uh.d.u sraeif a8Y 21

31)
Question Stimulus :-

Mohamud Khilji’s tomb is located at__./ HgH{a Raerelt 1 o8 _ W Razl
® Mandu/ 'FI'IT§'
* Raisen / IAAT
® Asirgarh/ ARG
® Rajgarh /XM6lTTe
Correct Answer :-Mandu / {Ig

32)
Question Stimulus :-

What is the day on 29th May 1993? / 29 U3 1993 & &I &T fa 8?2
* Tuesday / HICdR
e Monday / THAR
* Wednesday / §YUdX

® Thursday / [3dRR

Correct Answer :-Thursday / T¥dRR

33)

Question Stimulus :-
(14)



Education was transferred to the Concurrent List from the State List by the / Rrem = W'\‘Eﬂ' T ma?ﬁa:uﬂ
¥ RFiaid _ gRT foear )

e 40" Amendment Act / 40 § HRIEA Srff~ra

o 42" Amendment Act / 42 § TR Srfufraw

o 43" Amendment Act / 43 & TR Srfufera

e 39" Amendment Act /39 o TR srfufran
Correct Answer :-42"9 Amendment Act / 42 § TRV Srfuf~rayq
34)

Question Stimulus :-

The maximum density of canal is in which of the following States? / e = § 9 foead Tee @
Sifteaw o &2

* Tamil Nadu / AfHEATg

e Uttar Pradesh / 30X WX

® Punjab/ LEIC|

 Andhra Pradesh / 31 UGRT

Correct Answer :-Uttar Pradesh / 3T¥ UegI

35)
Question Stimulus :-

If its cookie and coffee then you get mileage and speed. You get mileage but not speed

then it wasn't coffee. / 3R 4% fo¥pe 3T HIW! & dF STUSH! ATge 3R i wre i<t 81 Ut
TTgaSt firear @ afeer wifar 8 et 3 ot ag srwt T8 &

e True / gl

e False / TTdd

e Maybe / B gHdr @

e Irrelevant / SUTHARTS

Correct Answer :-Maybe / 8 J&dT §

36)
(15)



Question Stimulus :-

Which of the following is a major port on the west coast of India? / ﬁgﬁr@aﬁﬁaﬁ‘—rm YRd S Ul dew®
TSP T S8 82

® Pondicherry / W%%ﬂ'
® Visakhapatnam /ﬁ'ﬂl’l@mﬁ:ﬂ

® Chennai/ aﬁ'&;

® Mangalore /'FiTIFﬁ?
Correct Answer :-Mangalore/ﬁ"'lﬁ?
37)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowea

gRgdias st IR e s S qum 3 :

If it is round, then it is a ball. / 4f¢ 8 MAPR §, A I§ TP G &
e If it is not round, then it is not a ball. / Ifg I8 MeTHR & 7, a1 I§ T 7§ T8I 3
e If it is not a ball, then it is not round. / afg Ig T® 7ig Tl §, a1 I8 MATHR &l gl
e Ifitis a ball, then it is round. / 9f¢ 9% 7ig g, @ I8 MATHR g1
* None of the above/mﬂﬂaﬂ'ﬁﬂﬁf

Correct Answer :-If it is not a ball, then it is not round. / af¢ I8 & e 71 &, 1 I8
MaTeR F81 2l

38)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁt{
<t fau 1T Hy=l vd Frepuf & TR § 9 §:

Statements: / PY:

All candles are lanterns / I HiHe drered %
All lanterns are bulbs / Tl dTelcd ded &
Conclusions: / fesd:

I.All lanterns are candles / T4 dTereT Hiwexl &

(16)



I1.All bulbs are candles / I ge9 m%
® Only conclusion | follows / Fqd ey 1 Aeadr %
® Only conclusion Il follows / Wﬁmﬂf i fFreedar %
® Both conclusion land Il foIIows/T:a:ﬁ forepd 1 GﬁT II ﬁ'ﬁ)‘ﬁﬁ '%
® None of the conclusion I or II follows / frpd 1 AT 11 ﬁ"@ﬂﬁ% -'-I'eﬂﬁlﬂm%

Correct Answer :-None of the conclusion I or II follows / fdiarada ﬁ% T8 Frpadan

g

39)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fawe ﬂﬁT{
i foT T HyT wd el & IR & 9 §:

Statements: / ©YH:

All travels are buses / a4t a&T a4 §
Some travels are lorries / $S dET3d ©
Conclusions: / e

I. Some buses are lorries / 99 T4 oA &

II. Some lorries are buses / $9 3d a‘@?

® Only conclusion | follows / Wﬁ'ﬁﬂf I fFrpadr %

® Only conclusion Il follows / Had e 1| Frpadr %

® Both conclusionland Il follows/azﬁ faepd 1 3iiv 11 e %

e None of the conclusion I or II follows / Y I AW II A A B 18] Fpaar 2

Correct Answer :-Both conclusion I and Il follows /aT-ﬁ et 1 3R 11 e %

40)
Question Stimulus :-

Who founded Nalanda university / Araier fayfaemey o1 wu=T g a2
® Kanishka / PITsp

(17)



® Ashoka / 3rMd
® Chandragupta / W
¢ Kumargupta / PHRIIW
Correct Answer :-Kumargupta / PHRIG

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

If "GASP’ is encrypted as ‘KMRO’ and "CROW'’ is encrypted as ‘AXYZ’ then how will
‘SPARROW’ be encrypted as? / df¢ *GASP’ &1 ‘KMRO’ ¥ THf%hy far ar § 3k *CROW’ &1
‘AXYZ’ 9 TPy fHu1 a1 8, 99 'SPARROW’ & &d THfhy forar Smam?

¢ ROMXXYZ

e ROMZYYX

e TRCTTOY

e VSDUURZ
Correct Answer :-ROMXXYZ
2)

Question Stimulus :-

Complete the series choosing the missing number: / ﬁ?jﬁ J= gIhR CEE]| aﬁw aﬂﬁrq i

17,19,23,29,
e 37
° 34
® 35
® 36
Correct Answer :-37
3)

Question Stimulus :-

A road work can be completed in 3 months by 20 workers. How many more men would be

(18)



needed to complete the same work in 2 months? / WW@‘I’& 20 nﬁgﬁm 3 Bl § IHTw
T o Twdr 31 39 2 U # 9HTW $ & e ofR fran sieHt @Y smawawar gz

® 15

* 10

°* 25

* 30
Correct Answer :-10
4)
Question Stimulus :-

If ‘RAM IS A GOOD BOY’ is coded as JUQ SV U RZZL KZN’, then ‘DOOR’ is coded as: / qﬁ ‘RAM IS A GOOD BOY’ &I

JUQ SV U RzzL kzN’ & Difed f5aT STdr 8, 1 ‘Door’ &I UF Hifed fpar SIram:
* 172
* ZLLJ
* KvVQ
* JuuQ
Correct Answer :-17z)
5)
Question Stimulus :-
Find the value of ’C, / 7C2 P a1 fAerferd
* 21

* 14

® 35
Correct Answer :-21
6)
Question Stimulus :-

(19)



Complete the series choosing the missing letter/s: / ﬁq&r &Y AP G Bl T aﬁﬁnz tab_bc_c_b_bc
® caaa
® acaa
® caac

® 3aca
Correct Answer :-caaa
7)

Question Stimulus :-

How many triangles are there in the following figure? / g 3ﬂ§?ﬁl ¥ foraa oo %?

/

N

[ ]
N & U

e 8
Correct Answer :-6
8)
Question Stimulus :-

The average of humbers between 100 and 180, which are multiples of 9 is / 100 3R 180 &
4 @) Teme | St 9 % TgY €, ST I @

* 140

* 144

(20)



* 153

* 147
Correct Answer :-144
9)

Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / T Uy &

ferg =R fawey €] Wt arenm gAY

i. '‘Quo Cui Heer’ means ‘Boy is Good’ / '‘Quo Cui Heer’ Tﬂﬂ?ﬁﬁ% ‘Boy is Good’
ii. ‘Lai Quo Mea’ means *‘Meena is fair’ / ‘Lai Quo Mea’ WW%‘ Meena is fair’
iii. ‘Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ W'ﬁ?ﬁi‘q’% *All are Fair’

iv. 'Si Hai Cui’ means ‘Dog was good’ / ‘Si Hai Cui’ P HaAd & ‘Dog was good’

Which of the following encryptions stands for Boy? / IEE] E@?m | Boy & e Cack:| %?
¢ Quo
® Cui
* Heer
* Lai
Correct Answer :-Heer

10)
Question Stimulus :-

In an isosceles triangle, two equal sides are three times the third side. One of the sides of the triangle is / TP W@HIE

BYs #, & SRR Yoe A Yo & O T §1 By B v ye R

Correct Answer :-8

(21)



11)

Question Stimulus :-

T 51 11 11 11
— 1;[g?{s-(I—E)}]/Wmﬁﬁm 1-[3——{6(— =
)
¢ 0
e 1
.3

Correct Answer :-1

12)
Question Stimulus :-

What is the chance that a leap year selected at random will contain 53 Sundays? / IT W‘Hﬁm% & sfffmadna
T T iy o R 53 Idaw =nitrer g2

° 1/7

° 3/7

o 2/7

® 6/7
Correct Answer :-2/7
13)

Question Stimulus :-

How many minutes does a car take to cover a distance of 200 m, if it runs at a speed of 60 km / hr?/ gfg Th PR 60 Gl

HeT &1 fd & gadt g, df 200 Wt B g8 &1 7 B | D! fba fFe @i

wh | —
| —

L min/ fire

° min / , fire

(22)



1
3
U min/ e

1 1

L Gmin/ﬁﬁﬁf

| —

| -
| —

Correct Answer :- -~ min/ - ffFe

14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ'qwr &R gADhY gt o1 LRl PIOE : aa
_ _bba_abb_ab_aa_ab

® abaabb
® abbabb
® bbabba
® bbaaba

Correct Answer :-abaabb

15)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ fad T IR vl & ¥ 19 I T va & St GHM S A1 TP G 82

Madawaska Kanu Center
Box 635, Barry's Bay
Ontario KOJ 1BO

(613) 756-3620

(416) 447-8845

(i) Madawaska Kanu Center
Box 635, Barry's Bay

Ontario KOJ 1B0O
(23)



(613) 756-3620

(416) 447-8845

(ii) Madawaska Kanu Center
Box 635, Barry's Bay
Ontario KOJ 1BO

(613) 756-3620

(416) 447-8845

(iii) Madawaska Kanu Center
Box 635, Barry's Bay
Ontaria KOJ 1BO

(613) 756-3620

(416) 447-8845

(iv) Madawaska Kanu Center
Box 635, Barry's Bay
Ontario KOJ 1BO

(613) 756-3620

(416) 447-8845

® iii

® jy
Correct Answer :-iii
16)

Question Stimulus :-

If SHAPER is coded as TGCNHO then EXERCISE is coded as / Tﬂ% SHAPER &I TGCNHO
Pifed far Sidr g df EXERCISE &1 U Sifsd faear s

(24)



® FWGPFFWA

®* FWGPFGWZ

® FWHPFGWA

* FWGQFFWA
Correct Answer :-FWGPFFWA
17)

Question Stimulus :-

A shopkeeper allowed 5% discount on markedvprice of the tape recorder. If its selling price is 1273 then
what is its marked price? / T% PR ¢U Reblex U fafgd $19d W 5% @e &1 srgafd ¢a1 31 3R g7 fawh!
e 1,273 ¥UU gl 39! Rifkd $ivaa w82

¢ Rs.1340/3FUU 1340

® Rs.1240 /YU 1240

¢ Rs.1140 /34U 1140

® Rs.1440 /34U 1440
Correct Answer :-Rs.1340 / ¥UU 1340
18)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, S©I 49T A TP US TAd §| TAd UG I DA

3,8,15,24,35,49
® 15
® 24
® 35
® 49
Correct Answer :-49

19)

Question Stimulus :-
(25)



If 'YINDUS’ is encrypted as 03865, and 'TENNIS’ is encrypted as 243305, then how will you
encrypt ‘STUDENT'? / afd '“INDUS’ @I 03865 ¥ TAf%P a1 a1 § 3R "TENNIS’ &I 243305 ¥
Ty f5ar a1 8, 99 MU "'STUDENT’ & &4 THfhY HII?

e 5628323
e 5648324
e 5268432
e 5268234
Correct Answer :-5268432

20)
Question Stimulus :-

By selling a chair for Rs. 720, a trader gains 20%.Find cost price of chair? / 720 IO H T ?ﬁ?ﬁﬁiﬂ
TP, TH SATUR BT 20% TATH ST 8 1 HA Dt AT Yoo BT Ual G2

* Rs.700 / =TT 700
* Rs.600 /=TT 600
* Rs.500 / U 500
* Rs.400 / =TT 400

Correct Answer :-Rs.600 /34T 600

21)

Question Stimulus :-
A thief steals a car at 10 am and drives it at 60 km/hr. The theft is discovered at 11 am and the owner sets off in another car.
At what speed should the owner runs the car to catch the thief at 12.30 pm?/ Uh IR gde 10 g TP PR Cal YRIDHI 3
60 fpHi/Eer o1 Tfa A & ST g1 TR & IR ¥ Gag 11 99 TdT Il 8 3R FR BT Hifers 75 fedleer ot nfa d
TP g BR A IR P Ude Naadl 31 FR &7 T $R B fFa-l i & 9o aife 98 g 12.30 T9 IR
P UPS A2

70 km/hr/ 70 fopei et

e 100 km/hr/ 100 fpHI /T

e 75km / hr/ 75 fopet/eer

e 80 km / hr/ 80 forHi/eer
Correct Answer :-100 km/hr/ 100 fosH1/EeT
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22)
Question Stimulus :-

What is the chance that a non-leap year selected at random will contain 53 Sundays? / HII W‘J-Iﬁ:ﬂ%% Sffefrad

1 A Tafa U IR vy A 53 R it @
°* 1/7
° 2/7
° 3/7
® 6/7
Correct Answer :-1/7
23)

Question Stimulus :-

Complete the series choosing the missing number: / faQW IAWAT DR S@aT B TR BT :

1,8,27,64,125,216,
° 343
° 345
° 347
° 344

Correct Answer :-343

24)
Question Stimulus :-
In a 10 kg ghee pack, 60% is pure ghee and 40% is vanaspati. If 10kg of pure ghee is added, then the percentage of
vanaspatiis/ 9t & T& 10 {5 U #, 60% = HY § 3R 40% awufa 31 afe 10fFw s &t &t
Rrarar sme, 9 a9wafa & ufa=ear gt

® 15%

® 25%

® 20%
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* 30%
Correct Answer :-20%
25)
Question Stimulus :-

[4-2a+5b-(a-b)]-[5a-(3a-(4a+b))] is equal to / [4-2a+5b-(a-b)]-[5a-(3a-(4a+b))]
TR &

e 4-9a+5b

e 5-9a+4b

0

®* None of these / ET-I'E[ ﬁﬁgﬂﬁ
Correct Answer :-4-9a+5b

26)
Question Stimulus :-

(552/3)x4+(88/11)x9-(480/10)x2=?
° 732
* 712
* 722
° 742

Correct Answer :-712

27)
Question Stimulus :-

The population of a town increases 4% annually but is decreased by emigration annually to 1%. What will be the increase
percentage in its population in 3 years?/ T R[GY B SFIERI H T 4% $1 aaﬁa“& Eﬁ?ﬁ % KIC| qg
YaRATAT GRT ITAT 1% dF ¢ STdl €1 3 9ul § ITS] s=ae § feraq ufawra agiadt grft?

® 9.1%
® 9.2%
® 9.3%
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® 9.4%
Correct Answer :-9.3%
28)

Question Stimulus :-

Complete the following sequence of figures. / Wﬁfﬁ & for g w9 Bt T B

CL =2 D)] -

Correct Answer :-

29)
Question Stimulus :-

A,B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can
A do the work if he is assisted by B and C every third days? / A,B 3R C T®H HTH Bl HH: 20,
30 3R 60 3= # 1 $T GPa &1 BT A 1 59 1 &) fbam AT § 1 &= wobar 8, T g8 AW 7 3@

B 3R C FT TgdiT freman 82

® 15 days / 15 fe

® 18 days / 18 fa

(29)



® 12 days / 12%7{
® 20 days / 20 feA

Correct Answer :-15 days / 15 f&q

30)
Question Stimulus :-

The series given below contains a sequence of aglpl_‘napets, numbers and symbols. Ideqtify
the incorrect combination: / =19 &1 T$ SRaaT 3ieRY T T3 BT 3T WART SRl §| Terd HaoH
LEEIER]

(i) nx72x05%du5jh

(ii) nx72x05%au5jh
(iii) Nnx72x05%du5jh
(iv) nx72x05%du5jh

® i

® ii
® jv
Correct Answer :-ii

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank

intentionally. / &9 SARIER A4l A TP Peaid gabe d URT RN Y@ HRT a4 arell | = 9 S &
f® te #9 Qa1 e G B 3 3@ Siaq R e 3R 0 i gRA W gl A & S 3 & aa § gl
a4 7 1 3w gia fvw ) Ry aifereT & gatde & ofd # 9t Sl gRT W T @al @t A W@, Siid T
Wd, BR 7T A 3R T 3@ B! Po G&T HT Udl Il 81 S WHI DI TGP Wieil Bis foar mar g1
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Team/ Matches Played/ Points /
AT wo AT Ee Won/ S | Lost/ §X | Draw /3T HF
Argentina

EECE 9 5 3 1 16
Brazil /

grsirer 9 6 2

Croatia/

st 9 2 2

Denmark /

CEIEY 9 3 3

Ecuador/

EECIE 9 3 4

France/

BIET 9 3 2

Germany/

STeer 9 4 2

Holland/

Bl¢ls 9 3 2

ltaly / eI g 4 3

Japan/

ST 9 7 2

Which team got the lowest points in the tournament? / g dw Ca| @ﬁf H W'\q wY 3P ﬁlﬁ?
® (Croatia / aﬁxﬁrcn
® Equator / m:cﬁ?
® Holland / 'E'Tag
® Japan / STTUTH

Correct Answer :-Japan /SO

2)

(31)



Question Stimulus :-

tan; tan —
If A = 180° evaluate < /3feA =180°, * &THH @ B3|

* 0

1/-2

O |
* is undefined / 3URHIRGT &

Correct Answer :-1

3)
Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / &9 SARIEH &Hl A TP Pedid gatbe # URT Riml y@® HNT a4 arell &0 = 9l d9f &
f@are T O9 Qa1 T 9 &1 3 3@ siiad WR e 3R 0 3fw gRA W1 gl Sl & & $f & ama | gl
a0l 9 1 3 1w Pyl F @iftreT @ gafde & s d @it Al g7 @ e @t 3t pa T@=1, Sid T
Wd, R T W 3R TT G Dt $o T B1 Udl gadl & | S THI S THGIHR Tl Sie f&ar T gl
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Team/ Matches Played/ Points /
AT wo AT Ee Won/ S | Lost/ §X | Draw /3T HF
Argentina

EECE 9 5 3 1 16
Brazil /

grsirer 9 6 2

Croatia/

st 9 2 2

Denmark /

CEIEY 9 3 3

Ecuador/

EECIE 9 3 4

France/

BIET 9 3 2

Germany/

STeer 9 4 2

Holland/

Bl¢ls 9 3 2

ltaly / eI g 4 3

Japan/

ST 9 7 2

For which two teams, the number of matches won were closest to the average number of matches won by all the

%ﬁ?émﬁaﬁ%mﬁwﬁﬁﬁmwmﬂﬁmvﬂ%nﬁﬁﬁﬁaﬁaam%mﬁ
?

® Denmark and Holland /@:I'Fﬂﬂ? ﬁ?ﬁﬁg

® Holland and France/ﬁfﬁ(‘»r 3R Wwig
® Germany and ltaly / e 8’ 3'(."6ﬁ

® Croatia and Ecuador/ﬁﬁ'Qﬁ'l’qT 3R 'S'g?ﬂ_{-ﬁ?
Correct Answer :-Denmark and Holland /@FﬁTﬁ? aﬁ?ﬁﬁg
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4)
Question Stimulus :-

A shopkeeper marks his goods 20% higher than the cost price a!nd allows a discount of
5%. The percentage of his profit is: / T® gPHMGR U TUM &1 Sifdhd Iea HI-JoI A 20%
3P IGAT § Td 5% HT e DI AN a1 81 TP T1H P Ufa=ra fobaqr 8:

* 10%
* 14%
® 15%
* 20%
Correct Answer :-14%

5)
Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / &9 AR &4l 3 TP Pedid gabe d URT Rraml y@® HNT &4 arell &0 3 9l S &
f@are T O9 QAT T 9 &1 3 3@ siiad R e 3R 0 8fw gRA W1 gl Sl & o $f & ama | gl
i A 1 3w gife frn) A aiferet 9 gafde & o & @it A g1 @d T @l ot $a =, Sid T
W, R T W 3R T 6 Dt $o U= BT Udl Iodl 8 | TS TH| HI TGS Wt Sie faar w g1
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Team/ Matches Played/ Points /
AT wo AT Ee Won/ S | Lost/ §X | Draw /3T HF
Argentina

EECE 9 5 3 1 16
Brazil /

grsirer 9 6 2

Croatia/

st 9 2 2

Denmark /

CEIEY 9 3 3

Ecuador/

EECIE 9 3 4

France/

BIET 9 3 2

Germany/

STeer 9 4 2

Holland/

Bl¢ls 9 3 2

ltaly / eI g 4 3

Japan/

ST 9 7 2

Which team got the highest points in the tournament? / foa S =t ﬁﬁf # a9 TSl 3 firar %?
® Argentina / 3T
® PBrazil / STond
® France/ s

® Germany/ S

Correct Answer :-Brazil / SITSiid

6)
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Question Stimulus :-

The order of the main steps of nutrition in human are / 9119 § TYUT & Tq9 TRUN BT HH 3

e digestion, assimilation, ingestion, absorption and egestion / U, TR, 3aUTI,
A=y, 3R sfgeyor

e ingestion, digestion, absorption, assimilation and egestion / 3[d3UgUI, YT, 3rI=NYUT,
Wit 3k sfgeror

e Assimilation, absorption, ingestion, digestion, egestion / TIF{IHUI, AN, SARUTI,
e, dfgauur

e Ingestion, digestion, assimilation, egestion, absorption / 338U, UTRH, ¥ THRUT, gig&yur,
CERILI|

Correct Answer :-ingestion, digestion, absorption, assimilation and egestion / 3[dRIgU,

7)
Question Stimulus :-

Humans & dogs are both mammals. Dogs produce more puppies than humans because / ] 3R Eﬁ S
WY ¥, P agel A Ser 9= Uar B § i

® More sperms are produced / STIGT [P ST HGE

® More eggs are produced / SUIGI 3US I Bl &
® More zygotes are formed from one egg / Tdh 3AUS TSI gl T4 8
® Egg undergoes cell division / 30E # HIRIPT AU Biar @

Correct Answer :-More eggs are produced / SITGT 308 30T BId &

8)

Question Stimulus :-

A combustible substance burns in air with the evolution of / TP EGT'I'QﬂT'I' qu‘TQf Bdl ¥ STedT % 3R g 3dud

® only Heat energy / Fad ST Soll
* only Light energy / Pdd YT SHell
® both heat & light energy / ST 3R YBTRN Holt Gl

® either heat energy or Light energy / T I ST St a1 eyt St
(36)



Correct Answer :-both heat & light energy / StHI 3R YT Hell gl

9)
Question Stimulus :-

Arun was advised to replace his jute rope with nylon rope for his mountain climbing expedition. The reason

behind the advice for the use of nylon rope waslmaﬁmmméﬁ\m%mHﬁﬁE
gwﬁmﬁMQMWﬁwﬁﬂélm‘ﬁWWmmaﬁm
BT HRUT YT

e High strength & elasticity / 3= I SR TRl
e Less expensive & high moisture absorbent / $H H& 3R 3ifter T ra=nius
e Shiny & sticky / dH®GR 3R ferafrd
* Light weight & durable / $H UK} 3R o1
Correct Answer :-High strength & elasticity / 3= T 3R TRl
10)

Question Stimulus :-

Some people experience breathlessness when they visit hill stations because / PO T %ﬁ W B AT R®
I a1 & dHdIe ey H3d & FNiP

® The amount of oxygen available decreases / STRIS Bt Iudsy ATAT FH E;T KIG| %

® The atmospheric pressure increases / mws?ﬂ‘q k| Q"?S{ B ST B

® The atmospheric pressure does not depend on altitude / HTQWUS?ﬂT[ old 3?"'&‘: R AR qﬁ Dl

® Air becomes denser / dIg TY- E?f SIGI] %
Correct Answer :-The amount of oxygen available decreases / SRS P Iudsy HET $H Epf STt %
11)
Question Stimulus :-

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC. If AD
= 2.4 cm, AE = 3.2 cm and EC = 4.8 cm. Find AB. / ﬂ‘ABC H D 9 E HH: H\_:ITGﬁ ABdACTUI Y
UeR fa & & DE || BC. af¢ AD = 2.4 §¥l., AE = 3.2 9. and EC = 4.8 IH}, a1 AB TId H|

e 3.6cm/3.69HI.

* 4.8cm/4.89HI.
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* 6cm /6.

e gcm /89,
Correct Answer :-6 cm / 6 G4,
12)

Question Stimulus :-

The cutting and removal of crop after it is matured is called / YT GRS @I GW%? uNu® Eﬂﬁ & dIq hIcHT
3R geT HeardT &

e Winnowing / wesHn
e Threshing / R
e Storing of crops / BTl BT T
 Harvesting / 9% &+
Correct Answer :-Harvesting / 9 $a-

13)

Question Stimulus :-

_p2 Yere — 7 h—h2 Y — .
Factorise Gab—b> +12ac-2be / Gab—-h” +12ac—-2bc WWW

(b+2c)i6a—b)

(6a+5)5+2¢)

(6a+5])b-ac)

(6a+5)2c—5)

[B+2c)i6a—5)
Correct Answer :-l~ A !

14)

Question Stimulus :-

Pitcher plant traps insects because it / Ueuull Bl DI Jbs NGl % Rife
® |s a heterotroph / 9g TP Ut %
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® Grows in soil which lacks nitrogen / 9% ﬁl@ H Iusidr % G‘Iﬁ T-I'l?g@TxF-l GRS R ﬁ’cﬂ %
® Does not have chlorophyll / "s'ﬂ'l}l qﬂfﬁﬁﬁ T-I'Eﬁ Eﬁ’cﬂ

® Has a digestive system / Eﬂ'ﬁ U IECIGE] T;s;]_cIT %

Correct Answer :-Grows in soil which lacks nitrogen / 9@ ﬁl@ ¥ Iuerdr % \_rlﬁ q’l?g@\_:l:[ DI {HTd ﬁ_vﬂ

g

15)

Question Stimulus :-

If*'f?F:Si,thenn: /!J‘I?{“E=81?ﬁn=
e 2
. 4
e 6
e 8

Correct Answer :-8

16)
Question Stimulus :-

The process of chemical decomposition of a substance by passing electricity through it is called /mﬁ TIETQf '\ﬁ'

fagaa uRT varea $3& 39 yerd & ymaftie sraue &1 ufthar @) $gd &
* electroplating / fagad @
* electrolysis / fagaa srqae
e galvanization / TTGI-TEHROT
* acidification / 3RTHROT
Correct Answer :-electrolysis / fagad srqae-

17)
Question Stimulus :-

Microorganisms feed on dead plants to produce / H&Iﬁ'ﬂa Hd Trel o1 YR R i wea %

e Silt /7T

(39)



® QOre / O¥Ph

e Humus / 8YHdA

® Mushroom / AP
Correct Answer :-Humus / 8gHd
18)

Question Stimulus :-

The main excretory product in human being is /ﬂ_:[l!ﬁ DI =T ISP IS &
e Urea/gfear
e uric acid / gf¥® 3
e Ammonia / 3EIf-=T
e Salt water / 99Ul STeT
Correct Answer :-Urea / giRdar

19)
Question Stimulus :-

Find the edge of a cube, which has a volume of 512 cm3/W g T fpART BIG) aﬁﬁrq, TI®T SmdH 512 @Tn

3%1
° 8cm/8@'¥ﬁ

9 cm / 9 I

&3 em /f Eaﬁﬁ?ﬁ

e 8m/8HIeR
Correct Answer :-8cm/ 8 It
20)

Question Stimulus :-

Symbols of all units are written in a specific way. Choose the right ones / Tt 375]3'5?[ ¥ el &1 Uh fafry
TP T forar Srar 71 6t BT 99T BN
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® 50km

®* 50Km
® 50kms
® 50KMs

Correct Answer :-50km

21)
Question Stimulus :-

It is easier to drag a brick wrapped in a Polythene because polythene / it A feru<t §'€' g? 3|
TRATEHT T 3 TP giferdi=

® Has less friction /ﬁ 9 9T Eﬁ_dT %
® Requires more force / x| Tl d¢f B ATTTIHT 'Ea?ﬁ %
® Does not need any friction /%\“ﬁ qyur &1 i dd :Iﬁ ﬁ?ﬂ
® Produces more friction / SATqI bLLY| JdUd hdl %
Correct Answer :-Has less friction / T $H gyl ﬁ_&ﬂ %
22)

Question Stimulus :-

If the diameter of a circle is 25 cm), find the radius / 'CI'% qd Pl AU 25 I+ %, a 3'\‘!3% e STd B
e 50cm / 50 G
® 25cm / 25 I+
e 75cm / 759t
e 125¢m / 1259t
Correct Answer :-12.5cm / 12.5 9H!
23)

Question Stimulus :-

The number which is divisible by 2, 3, 4 and 6 is / 98 =1 il 2,3,4Td 6 ¥ faursy %l

® 64568
(41)



® 65678

® 68928

® 64928
Correct Answer :-68928
24)

Question Stimulus :-

A dog takes 3 leaps for every 5 leaps of a hare. If one leap of the dog is equal to 3 leaps of the hare, the ratio of the
speed of the dog to that of the hare is: / T® $T BT 3 AT Th WIN Dt 5 DANN & U g1 T T BT
TP TN TN & T SAT S FUH €, P DI A ST 3JuTd TN $t A & 1Y B:

Correct Answer :-9:5

25)
Question Stimulus :-

ABCD is a square with side 5 cm. What is the area of the triangle ABC? / ABCD Udh it % et YSIT 5 L

21 I ABC &1 Q% FT SN2
® 25cm? /25 T+ 2
e 5 cm2/5 I+t 2
¢ 6.25cm?/6.25 Y} 2
e 125cm?/ 1259w 2
Correct Answer :-12.5 cm?/ 12.5 947 2

26)
Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point

(42)



each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank

intentionally. / &9 SAREH A4l A T Pedid gathe d URT REaTl Y& HRT a4 arell S0 3 9l S &
RaTw T f9 @a1 Te 9 B 3 3@ Siia W A iR 0 3ie 8RA W1 &l Al & S Sf & amd # gl
i 7 1 o gile frn) g aifereT 9 gafde & oid & @it Adf g1 ©d T @<l ot $a =T, Sid T
W, TR T W 3R TT 61 $t $ YT &1 Udl Iedl 8 1 S TH] $I THIgIH WMt Sis faar war g1

Team/ Matches Played!/ Points /
a7 e AT B Won/ 3fid | Lost/ 8X | Draw /3T iF
Argentina

EECC 9 5 3 1 16
Brazil /

gretrer 9 6 2

Croatia/

ERNEE 9 2 2

Denmark /

SIS 9 3 3

Ecuador/

SIS 9 3 4

France/

I 9 3 2

Germany/

STEeT 9 4 2

Holland/

BI¢ls 9 3 2

ltaly / Sceil 9 4 3

Japan/

=T 9 7 2

Total how many matches were played in the tournament? / @& ELEEE Fﬁ? RG] a?
® 381
® 72

® 55
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e 45
Correct Answer :-45

27)

Question Stimulus :-

The variety of organisms existing on the earth is referred to as / Jdt W fagm= w5 fH & oitg 39 Ay
Hd &

e Biosphere / Sid Hed

® Biome / EICIL|

® Biodiversity / g fafaean

® Ecosystem / UIRad
Correct Answer :-Biodiversity / Sig fafaemr
28)

Question Stimulus :-

A cell may be described as / T BIRIBT BT guiH 39 TSR & fmar &1 Godr &
* Too small to be seen with our naked eyes / SHRI it G A T8 UH & ford qga ol B
e Containing hereditary material / f5/9# 3gaifre wwrl §
® Consisting of cytoplasm & nucleus / PIRNPT 5 3R Fgd J T8

® The basic structural & functional unit of life / SiaT $1 Hd TIATHP 3T UThTH BWI':% %

Correct Answer :-The basic structural & functional unit of life / SIIaT &1 T& IRAATHS 3R TSR

TP °

29)
Question Stimulus :-

Choose the statement that is wrong about sexual reproduction /!:ﬁ:[ YJAxdreAd & faug o 3 DY BT Igq
P Sl TTAd §

® Male and female reproductive organs are different / YUY t{'a 'FI'I%'GT & =l 3T fH m %
® They produce gametes / C| JiHd Pt Sdfd P %
® There is fusion of male and female gametes / Y9 Qﬁ 'FI'I%ET gmﬁ BT GIRIYoT Eﬁ_dT %
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® There is no zygote formation / ®Ig ol fafor TS gar 8
Correct Answer :-There is no zygote formation /ﬁ's‘ ol formtor =Y gran %

30)
Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / &9 SIARPIA T A TP Peala gAide A URT AT U HRT oA aret &9 3 9 & &
faTw Te f9 QaTl Te A9 B 3 3 sia W fAra Siiv 0 3ie gRA w1 il At & dfiw sf & amwa § gAY
i 7 1 3w e fu ) Fg aifereT & gatde & ofd | 9t Sl gRT e T Wal @t A GSHT, Siid T
W, TR T W 3R TT e Dt $o VAT BT Udl gordl 8 | TS TH| B TGS Tt Sis faar mar g1
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Team/ Matches Played/ Points /
AT wo AT Ee Won/ S | Lost/ §X | Draw /3T HF
Argentina

EECE 9 5 3 1 16
Brazil /

grsirer 9 6 2

Croatia/

st 9 2 2

Denmark /

CEIEY 9 3 3

Ecuador/

EECIE 9 3 4

France/

BIET 9 3 2

Germany/

STeer 9 4 2

Holland/

Bl¢ls 9 3 2

ltaly / eI g 4 3

Japan/

ST 9 7 2

What were the average points earned by all the teams? / I i gRT 3rfefa o i m A2
® 8.7
® 10.5
e 123
® 134

Correct Answer :-12.3
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